S —

JURALCO SUNFOLD®
OUTDOOR LIVING SYSTEMS

ISSUE 3-24 v3




Juralco SunFold® Outdoor Living System

Juralco Aluminium Building Products Ltd designs and distributes specialist aluminium
joinery systems through a national network of franchised fabricators and agents.
For more than 25 years we have been at the forefront of specialist aluminium door and
window products suitable for New Zealand joinery and building methods. Our

comprehensive product range includes security and insect screens, balustrades and gates,

shutters and awnings, shower screens, wardrobe doors and organisers and internal doors.

The SunFold® Outdoor Living System is an ideal solution for extra outdoor shelter for you home.
The high quality extruded aluminium structure and louvres can be custom powder coated in a
colour of your choice. The motorised ceiling louvres when closed form a more weatherproof

seal. They can also be retracted for you to enjoy the full sky.
The structure can be added to with drop down screens, on any or all sides.

ving System - Features
, 4 Post shown)
vailable

Retracting Louvres
Motorised

Intergrated frame
with inbuilt water drainage

inside Beam

Posts.

Can be zero or

multiple posts depending
on installation type

A variety of Base
attachment brackets.

Intergrated Drop
down screens
Any or all sides

The SunFold® Outdoor Living System is built from the following sub systems...
- Louvres. One type only. Pivot pin at one end; designed to provide a more weatherproof seal when closed. Motorised only
Retracting to either end to open to the sky. Options to retract to LH or RH ends
- Posts. These are a two part post, with inner Stainless Steel angles top and bottom.
At ground level they can be connected to foundations in a variety of ways including a hidden base plate.
Hidden drainage down pipe in one Post per Bay
- Beams. The Beams contain all the pivots for Louvre retraction and the Motor actuator
All these beams are of two types, depending on Wall attachments or corner Posts
All beams have a hidden drainage channels on all sides to catch rain.
- Drop down Screens. Screens from the SolarZip range can be completely hidden inside the Frames thus making
this a very useable extra all weather space.
- Sliding Glass Doors. From the Glaslide range of 10, 12 or 15mm Glass panels. Refer to the ‘Glaslide Sliding Glass Doors’ Manual
- For larger installations MultiBay setout is possible.
- LED lighting can be incorporated in the Top Frame.

The Juralco SunFold® Outdoor Living System is wholly manufactured by Juralco and supplied as a kitset.
All assembled on site - no need for heavy lifting.

All pages © Copyright Juralco Aluminium Building Products Ltd, 2024

Issue 3-24 v3
%JURALCD Juralco SunFold® Outdoor Living System S:ue !
wwwijuralco.co.nz ph (09) 478 8018 age 2




Juralco SunFold® Outdoor Living System

masterspec partner

Index Section 4522JB
Pages Codes Description Use the Bookmarks m List to jump to selected pages
4 Specifications Shows General and Powder Ccoating Specifications
5-7 Std Layouts Shows standard configurations for Single and Multibay layouts
8 Features Shows various features of the SunFold Outdoor Living System
9 Flow Chart Shows a Decision Flow chart
10 Lengths and Louvres | Shows SunFold Overall Lengths and No of Louvres for different End Beam combinations
11-15 Structural Shows a range of Layouts, Wall Joints for. Layouts + Area and Wind Zone calculations
16 - 17 Addons Shows optional SolarZip Dropdown, Glaslide Sliding Glass Doors and in Beam Lighting
18-25 Post Base Attach Shows Post attach to Timber Deck (p18-23) and Concrete (p24-25)
26 -34 General Attachments | Shows structures attached to Soffits (p26-29) and Walls (p30-32)
35-47 Joints Shows SunFold Joint details for Beams and Posts
48 - 53 Materials Shows all Extrusions and Components
54 Drive Train, Install Shows Components and Installation instructions
55 - 56 Electrical Shows Electrical and Wireless information
57 - 59 Drainage Shows Drainage options and slope calculations
60 Powder Coat Care and maintenance Exterior Powder coated surfaces

i

[

<

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 3




Juralco SunFold® Outdoor Living System

Juralco Aluminium Building Products Ltd (JABP)
Specifications for Juralco SunFold® Outdoor Living System

1.Scope
- This specification details the documents the Juralco SunFold® Outdoor Living System refers to in relation to the New Zealand
Building Code, the manufacturer's documents, products used in the System, requirements in relation to fixing and surface
finishes.

2. Manufacturer's Documents
- The Juralco SunFold® Outdoor Living System manual details all extrusions and components used for the fabrication and
installation/fixing of the system.
- Manuals are available from Juralco Aluminium Building Products Ltd
48 Bruce McLaren Rd, Henderson, Auckland
Phone 09 478 8018 Fax 09 478 7883 Email specify@juralco.co.nz

3. Products
- Only extrusions, components and hardware supplied by or specified by JABP may be used in the SunFold® Outdoor Living System
- Stainless Steel components, hardware, fixings — all components to 316 grade or 304.

- Juralco Aluminium Building Products Ltd is a Dulux Registered Applicator site, registration number 2101.
JABP uses only Dulux branded powder coating materials

- Dulux Duralloy® powder coating systems are suitable for properties greater than 100m from high tide level
AAMA 2603 performance. Residential buildings, 3 levels max. Warranty 10 yrs

- Dulux Duralloy Plus® powder coating systems are suitable for properties greater than 10m from high tide level.
AAMA 2603 performance. Residential and Light commercial buildings, 3 levels max Warranty 15 yrs

- Dulux Duratec® powder coating systems are suitable for properties greater than 10m from high tide level
AAMA2603 and 2604 performance. All Residential and Commercial buildings. Warranty 25 yrs

5. Installation and Fixing
- The Juralco SunFold® Outdoor Living System must only be installed in accordance with the Juralco SunFold® Outdoor Living
System manual

[
[

[

[

[

[

[

[

[

[

[

[

[

[

[

[

[

[

[

[ 4. Surface Finishing
[

[

[

[

[

[

[

[

[

[

[

[

[

[

[

| - The SunFold® system Structure and Footings are based on NZS 3604:2011 and NZS 1170 Appendix D, Wind Zone calculations.
[
|

Important information - Powder Coating systems.

Powdercoat Systems The new standard Dulux powder coating system used by Juralco is Duralloy Plus®. Also Duralloy® and Duratec®.
All as per specs above. Juralco Powder coated prices are for Duralloy Plus® and Duralloy® (same pricing). Duratec® prices on application.

Attachment to structures A PVC Tape or similar material spacer must be used to separate powder coated aluminium items from all concrete
and steel structures. Failure to do so can lead to the chemicals in the structure affecting the powder coating, leading to corrosion.

Swimming Pools The chlorinated water in swimming pools can cause the deterioration of powder coated surfaces, leading to corrosion
of the underlying surface. It is recommended that Powder coated surfaces be 1200mm min from a pool.

Care The Dulux powder coating warranty period is conditional upon the surface being maintained
' in accordance with the Dulux ‘Care and Maintenance Instructions’. Download from Dulux or refer to the back page of this manual.

| 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System s e

www.juralco.co.nz ph (09) 478 8018 Page 4




Juralco SunFold® Outdoor Living System

Note : These are some of our Standard Layouts - Many other configurations are possible.

See Following pages

Freestanding - Available as Single or MultiBay
SolarZip Dropscreens, Glaslide Sliding Glass Doors, options
Wireless Controls

1 x Wall - Available as Single or MultiBay 2 x Wall - Available as Single or MultiBay
SolarZip Dropscreens, Glaslide Sliding Glass Doors, options SolarZip Dropscreens, Glaslide Sliding Glass Doors, options
Wireless Controls Wireless Controls

Integrated - Available as Single or MultiBay
Wireless Controls

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 5




Juralco SunFold® Outdoor Living System - Standard Configurations
These are our Standard Layouts - Many other configurations are possible. Please enquire
Louvres can contract to either end.

1x Bay, No Posts
Integrated Series

1x Bay, - 4 x Posts
Freestanding Series

1xBay 1xBay 1xBay 1xBay 1xBay
3B-LH| [3B-RH 3C- L 3C- RH "

1 x Bay, 1 x Post Two Wall Series

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

7777777777777777777777777777777777777777

! \‘ r —— \‘ 77777777777
| o |

| ‘ ‘ |

: 2xBay 2xBay | | 2xBay 2xBay 1

‘ 1A 1B | | 2A 2B | 2xBay

| |

\ ‘ ‘ |

L 2 x Bay, 6 x Posts : l 2 x Bay, 4 x Posts One Wall Series J

Freestanding Series

/22 \‘
| I |
|
: 1 2xBay
| 2xBay 2xBay 2xBay 2xBay | 5B
| 3A 3B 3C 3p |
|
|
|
| | I —
|
|
|
|
|
]

e e e e e = -

2 x Bay, 2x Posts Two Wall Series

ZXMay ZXﬁLay I
4D{LH 4DRH 2xBay ZX%ay 2xBay 2xBay
4EfLH 4E{RH 4FLH 4F{RH

| 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System sl

www.juralco.co.nz ph (09) 478 8018 Page 6




Juralco SunFold® Outdoor Living System - Standard Configurations

These are our Standard Layouts - Many other configurations are possible. Please enquire
Louvres can contract to either end.

3xBay 3xBay

3 x Bay, 8 x Posts

Freestanding Series 3 x Bay, 6 x Posts

One Wall Series

N e e e e = — e

3xBay 3xBay 3xBay 3xBay
4A 4B 5A 5B

3 x Bay, 3 x Posts Two Wall Series

3 x Bay, No Posts
Integrated Series

\
|
|
|
|
|
3xBay !
|
|
|
|
|
|
|
|
|

Some Possible Non Standard Layouts - Please enquire

pe==i |\|otor ====g===\|otor=="m F—— Motor=——p——Motor=Hn
S ko
O o]
[ I
==Motor=4 =otor—= ‘= Wotor=—4==Motor= == Wotor === Motor
3xBay - Freestanding 3xBay - One Wall 4xBay - Freestanding 4xBay - Two Wall
#EJIJURALCO lssue 3-24 v3

Juralco SunFold® Outdoor Living System P
www.juralco.co.nz ph (09) 478 8018 age 7




Juralco SunFold® Outdoor Living System - Features

SunFold - Open

N

#tJURALCO
www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System




Step 1 - Select
Layout type

Step 2 - Select
Wind Zone
(up to and
including)

Wind Zone selection OK '

Step 3 -Select
Add-ons

Step 4 - Enter
Dimensions
and Area

(per Bay)

Height and Area all OK

Step 5 -Enter
Total No of Bays

Notes:

Juralco SunFold® Outdoor Living System - Flow Chart

Freestanding O
One Wall Series ()
Two Wall Series ()
Intergrated O

Next step after
Layout selection

If Wind Zone
> than Extra High

Low O
Medium O
High O
Very High O
Extra High O
Next step if

No Add ons O
SolarZip O
Dropdown® Curtains
Glaslide® Sliding (O
Glass Doors

If Glaslide®
Sliding Glass
Doors Selected

If No Add-ons
or Dropdown

Length (L)................ m

Width (W)....ooeennneen. m
Height (H)................. m
Area (LxW)............ sgm

(see following pages for
allowable dimensions)

Specific Engineer
Design

Area reduction factors for
these Wind Zones

Low none
Medium/High 0.8
Very High 0.7

Extra High and SED.
Specific Engineer Design

If Height >2.7m

Specific Engineer
Design

If Area >max

allowable for
chosen WZ

Next step if

|
oo

Specific Engineer
Design

1: The flow chart can be used to determine whether or not the design is acceptable under our Generic PS1.
Where the design does not meet with the criteria laid out in the manual a Specific Engineered design must

be used

2 : Only connections described in the manual can be used.
3 : No substitute for products included in the manual can be used

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3




Juralco SunFold® Outdoor Living System - Allowable Dimensions

SunFold,
using JOR/818N louvres
SunFold system Whole Louvre calcs
Overall Lengths, Beam to Beam
815t0)  815t0 vo | upto-1omm, +1umm foat range Is permiseibie
801 807 louvres OL outside this range_is not allowed
oL oL
1285 1210 5 ie say for 815 to 807, an OL of 3500mm is wanted
This is not possible.
1465 1390 6 Nearest possibility is 3550-10 = 3540mm
1645 1570 7
1825 1750 8 (815 Motor Beam to 801 Perimeter Beam,
2005 1930 9 815 Motor Beam to 807 Narrow Beam)
2185 2110 10
2365 2290 11
2545 2470 12
2725 2650 13
2905 2830 14
3085 3010 15 -
3265 3190 16 Max&ﬁmﬁ;ﬁz,nieam Max Width
3445 3370 17 801 Beam to 801 Beam 4200
3625 3550 18 801 Beam to 807 Beam 4125
3805 3730 19 807 Beam to 807 Beam 4050
3985 3910 20
4165 4090 21
4345 4270 22
4525 4450 23
4705 4630 24
4885 4810 25
5065 4990 26
5245 5170 27
5425 5350 28
5605 5530 29
5785 5710 30
5965 5890 31
Beams 815 to 801 Beams 815 to 807
-t Overall Length - Overall Length

(290907

JOR/815
Motor
Beam

A AAA

JOR/801
Beam

1
JOR/815
Motor
Beam

N~~~

’| lay

JOR/808
Post

JOR/808 JOR/808
Post Post

Notes : 1 - All Overall Dimensions are to Post outsides (ie each Post projects out 5Smm past beam)
2 - Unlike the SunPivot the SunFold cannot use Part louvres. See above for allowable Overall Length range

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 10




Juralco SunFold® Outdoor Living System - General Structural Considerations

Attachment Types
Point Loads + = Strengthened Wall or Soffit
attachment only
Distributed Loads - Can be installed to normal Walls Normal Wall or Soffit = Attach points over whole Width
or to under Soffits

Point Loads - Can be installed to Walls or Soffits only
if properly strengthened at attach points

Freestanding Series (2 x Bay example)

Total Uplift loads, according to the appropriate Wind Zone are resisted

by the Foundations at each Post.

Post foundations can be Concrete masses in soil, a suitable continuous Concrete pad
or connections to a Timber Deck.

-

Wall Series. Louvres Perpendicular to Wall (2 x Bay example)

Total Uplift loads, according to the appropriate Wind Zone are resisted by the
Foundations/attachments. Post foundations can be Concrete masses in sail,
a suitable continuous Concrete pad or connections to a Timber Deck.

At the Wall/Soffit the load is equally distributed over the whole length.
Multiple bracket attachments for Wall or Soffit are available.

The Project Engineer must ensure the structure can support the appropriate loads.

Wall Series. Louvres Parallel to Wall (2 x Bay example)

Total Uplift loads, according to the appropriate Wind Zone are resisted by the
Foundations/attachments. Post foundations can be Concrete masses in soil,
a suitable continuous Concrete pad or connections to a Timber Deck.

At the Wall the load is concentrated.

This type is not suitable for Wall or Soffit mounting unless strengthening
work is undertaken.

The Project Engineer must ensure the structure can support the appropriate loads.

Two Wall Series. (2 x Bay example)

These are a combination of the two Wall types above.
Distributed (Wall or Soffit) and Point (Wall only) loads.

Integrated Series. No Posts. (2 x Bay example)

As for Two Wall series above.
Louvres Perpendicular to Wall - OK for direct Wall attachment.
Louvres Parallel to Wall - See comments above

| 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System e

www.juralco.co.nz ph (09) 478 8018 Page 11




Juralco SunFold® Outdoor Living System - Area and Wind Zone Tables

Freestanding - Available as Single or MultiBay
SolarZip Dropscreens, Glaslide Sliding Glass Doors, options
Wireless Controls

Available as Single or MultiBay

Electrically operated with Wireless Remotes

SoIarZip® Dropscreens available for Shade protection

Mounting to Timber or Concrete decks.

Single Bay Freestanding

Glaslide® Sliding Glass doors available for Wind protection

Refer to the Flow Chart to find allowable Design under the Generic PS1
Specific Engineers design available, see notes below

All Area and All values, o i
Dimensions, per Bay per Post Use this figure as a basis for
: strength calculations if
) Area Approx Max | Uplift |Concrete h
Overall Wind Zone| \1ay sqm| Dimensions | KN m3 | attaching to other than Concrete
Length Low 22.8 bor B 418 | 0.18 Use this figure if
N er bay .
Medium | 228 | oygraiiwidth | 559 1024 | attaching Concrete
High 2238 max4.2m | 7.90 | 034 [ ——
; Overall Length
| Very High | 17.6 vorall Length| 7.92 037
[—— — Extra High 14.5 7.03 0.31
Overall
Width
Multi Bay Freestanding (2 or more bays)
All values, per Post )
l vaues, per os l Use these figures
All Area and Applies to Outer || Applies to Central| g5 g basis for
Dimensions, per Bay 4 x Posts 2 x Posts strength calculations
Wind Zone | . Area Approx Max |Uplift| Concrete | Uplift | Concrete | if attaching to other than
Overall Ba Ba Max sqm | Dimensions | kN m3 kN m3 Concrete
Length v v Low | 228 | OvemiWidh |418| 018 |8.36| 036 o
Medium | 228 | Overallength |5.59| 0.24 |11.18| @49 | Usethese figures if
- 5.8m max attaching Concrete
High 228 | ghesewilvary | 7-90| 034 |15. 0.6;/ —
; slightly with
Very High 17.6 difforent beam 7.92| 0.34 15.84| 0.6
. | Extra High 14.5 combinations) | 7.03| 0.31 14.06| 0.61
Overall | Overall
Width Width
Notes:

1 - For Posts, for all configurations Max Height is 2.7m.

2 - The Project engineer must ensure the structure can support the appropriate loads
3 - If Glaslide Sliding Glass doors are attached to the structure max Areas for ea Wind Zone are reduced
Low/Medium WZ- no reduction, High WZ 0.8, Very High WZ 0.7, Extra High and SED, Specific Design required

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 12




Juralco SunFold® Outdoor Living System - Area and Wind Zone Tables

1 x Wall - Available as Single or MultiBay
SolarZip Dropscreens, Glaslide Sliding Glass Doors, options
ontrols

Wireless C

Available as Single or MultiBay
Electrically operated with Wireless Remotes

Mounting to Timber or Concrete decks.

One Wall Series

SoIarZip® Dropscreens available for Shade protection
Glaslide® Sliding Glass doors available for Wind protection

Refer to the Flow Chart to find allowable Design under the Generic PS1
Specific Engineers design available, see notes below

Overall
Length
All Area and All values, Applies to Wall and Applies to Wall
Dimensions, per Bay per Post Soffit attach attach points
Wind Zone Area Approx Max |Uplift| Concrete | Distributed Fixings Point Load
A Max sqm | Dimensions | kN m3 Load kN/m Screws kN
Overall Low 22.68 Por B 5.23 0.25 1.94 1x14g at 600 5.23
Width - Per Bay
Medium 21.84 Overall Width 6.79 0.29 2.59 1x14g at 600 6.73
High 17.64 max 4.2m 7.68 0.33 3.66 2x14g at 600 7.68
Very High | 13.69 O‘Qf;i”s'-sepngth 7.70| 0.33 416 |2x14gat600| 7.70
Extra High| 12.25 ’ 7.45| 0.32 4.26 2x14g at 600 7.45
Overall
Length
. Overall
Width
Multi Bay One Wall Series (2 or more bays)
Overall Bay Bay
Length + +
l All values, per Post l Applies to Applies to
All Area and Applies to Outer || Applies to Central Applies to Wall and Outer W?" Central W?"
Dimensions, per Bay 2 x Posts 2 x Posts Soffit attach attach points | | attach point
- Wind Zone | . Area Approx Max | Uplift| Concrete | Uplift | Concrete |Distributed|  Fixing Point Load | Point Load
O\‘/’\;?&?:: O\‘,’\;?g?:: Max sqm | Dimensions | kN m3 kN m3  |Load kN/m| Screws kN kN
I I
Low 22.68 O\éezrall Width | 5.23 0.23 10.45| 0.45 1.94 1x14g @600 5.23 10.45
Medium | 2184 | overallLength |6.73| 029 [13.45| 058 259 |1x14g @600|  6.73 13.45
High 17.64 5.8m max 768 0.33 |15.37| 0.67 3.66 |2x14g @600 7.68 15.37
(these will vary
e—— Very High | 13.69 | sightywith |7.70| 033 |1540| 0.67 416 |2x14g @600  7.70 15.40
Ilferent beam
Extra High | 12.25 combinations) | 7.45 0.32 14.91 0.65 4.26 2x14g @600 7.45 14.91
Overall Bay Bay
Length
B ———
Overall = Overall
Width Width
Notes:
1 - For Posts, for all configurations Max Height is 2.7m.
2 - The Project engineer must ensure the structure can support the appropriate loads
3 - If Glaslide Sliding Glass doors are attached to the structure max Areas for ea Wind Zone are reduced
Low/Medium WZ- no reduction, High WZ 0.8, Very High WZ 0.7, Extra High and SED, Specific Design required
JURALCO .. Issue 3-24 v3
= Juralco SunFold® Outdoor Living System Page 13
www.juralco.co.nz ph (09) 478 8018 age




Juralco SunFold® Outdoor Living System - Area and Wind Zone Tables

2 x Wall - Available as Single or MultiBay
SolarZip Dropscreens, Glaslide Sliding Glass Doors, options
Wireless Controls

Available as Single or MultiBay

Two Wall Series

Mounting to Timber or Concrete decks.

Electrically operated with Wireless Remotes

SoIarZip® Dropscreens available for Shade protection
Glaslide® Sliding Glass doors available for Wind protection

Specific Engineers design available, see notes below

Refer to the Flow Chart to find allowable Design under the Generic PS1

All Area and All values, Applies to Wall and Applies to Walll
Dimensions, per Bay per Post Soffit attach attach point
Wind Zone Area Approx Max |Uplift| Concrete |Distributed| Fixings Point Load
Max sqm | Dimensions kN m3 Load kN/m| Screws kN
Overall Low 22.68 Por B 5.23 0.23 1.94 1x14g @600 5.23
Length - Per Bay
Medium 21.84 Overall Width 6.73 0.29 2.59 1x14g @600 6.73
High 17.64 max 4.2m 7.68| 0.33 3.66 2x14g @600 7.68
Very High | 13.69 O‘Gf;i”;gr’]‘qgth 7.70| 0.33 416 |2x14g @600|  7.70
?/:/’%ft";‘]” — Extra High| 12.25 ' 745 032 426 |2x14g @B00|  7.45
Multi Bay Two Wall Series (2 or more bays)
[ All values, per Post | Applies to || Applies to
All Area and Applies to Outer | | Applies to Centre Applies to Wall and Outer Wall |[Central Wall
Y Dimensions, per Bay 1 x Post 1 x Post Soffit attach attach point || attach point
Wind Zone| . Area | Approx Max | Uplift| Concrete Uplift | Concrete | Distributed |~ Fixing | Point Load| Point
Max sqm | Dimensions | kN m3 kN m3  |Load kN/m| Screws kN Load kN
Overall Bay Bay Low 22.68 O\ie2rall Width | 5.23 0.23 10.45| 0.45 1.94 1x14g @600 5.23 10.45
Length Medium | 21.84 | overallLength |6.75| 0.29 |1345| 0.58 259 |1x14g @600| 6.73 13.45
High 17.64 58mmax 768|033 [1537| 067 3.66 |2x14g @600| 7.68 15.37
(these will vary
— — Very High 13.69 di?:le%z‘r?t/ l‘;Ve“ahm 7.70 0.33 15.40| 0.67 4.16 2x14g @600 7.70 15.400
H t Extra High | 12.25 combinations) | 7.45| 0.32 14.91 0.65 4.26 2x14g @600 7.45 14.91
Overall +Overall
Width Width
Notes:
1 - For Posts, for all configurations Max Height is 2.7m.
2 - The Project engineer must ensure the structure can support the appropriate loads
3 - If Glaslide Sliding Glass doors are attached to the structure max Areas for ea Wind Zone are reduced
Low/Medium WZ- no reduction, High WZ 0.8, Very High WZ 0.7, Extra High and SED, Specific Design required
JURALCO L Issue 3-24 v3
= Juralco SunFold® Outdoor Living System Page 14
www.juralco.co.nz ph (09) 478 8018 age




Juralco SunFold® Outdoor Living System - Area and Wind Zone Tables

Integrated - Available as Single or MultiBay
Wireless Controls

Overall

Available as Single or MultiBay

Electrically operated with Wireless Remotes

Refer to the Flow Chart to find allowable Design under the Generic PS1

Specific Engineers design available, see notes below

Single Bay Intergrated Series

All Area and
Dimensions, per Bay
. Area Approx Max | Distributed Fixings
Wind Zone Max sqm | Dimensions | Load kN/m Screws
Low 22.68 PerB 1.94 1x14g at 600
- er Bay
Medium 21.84 | Gverall Width 2.59 1x14g at 600
High 17.64 max 4.2m 3.66 2x14g at 600
; Overall Length
Vi . .
ery High | 13.69 max 5.8m 4.16 2x14g at 600
Extra High| 12.25 4.26 2x14g at 600

Width
Multi Bay Intergrated Series (2 or more bays)
Overall Bay Bay
Length
i ¥ +
Applies to
All Area and . Inner Wall
. f Applies to Wall attach -
Overall Overall Dimensions, per Bay attach points
Width Width Wind Zone| . Area | Approx Max | Distributed | ~ Fixing Point
Max sqm | Dimensions |Load kN/m| Screws Load kN
Low 22.68 Overall Width 1.94 1x14g @600 10.45
- 4.2m max
Medium 21.84 Overall Length 259  |1x14g @600 13.45
: 5.8m max
High 17.64 (these will vary 3.66 2x14g @600 122(7)
i slightly with .
Overall Very High | 13.69 diﬂegren)t/ e 4.16 2x14g @600
Length Extra High| 12.25 | combinations) 426 |2x14g @600| 14.91
Overall
Length
Overall
Width
JURALCO . Issue 3-24 v3
= Juralco SunFold® Outdoor Living System Page 15
www.juralco.co.nz ph (09) 478 8018 age




Juralco SunFold® Outdoor Living System - Optional Add-ons

Juralco SolarZip Dropdown Juralco Glaslide System
- For afternoon sun shade protection - For wind protection
- When retracted hidden completely in the Perimeter beam - Can attach the Glaslide system to the SunFold framework
(Note - can’t be used inside a Motor Beam) - Glass panels max 1.1m Wide ex 15mm Toughened Glass.
- Curtain edges run inside guide rails. - Panels slide and stack to a max panel width of 1.1m
- Motorised only. - Max Glass Panel Heights when installed in the Sunfold system
- Wireless controls - .
- All units come with Wind Sensors to automatically retract Wind Zone| Glass Height m
if winds get too high LO_W 2.7m
Medium 2.6m
Perimeter Beam High 2.4m
Very High 2.2m
Extra High NA
- The incorporation of a Glaslide Sliding Door panel system as
: part of a Sunfold frame will cause a reduction of the
Solar Zip . .
Screen max allowable Area for any given Wind Zone.
~ Low WZ - no reduction
Pelmet Medium/High WZ 0.8,  Very High WZ 0.7
Front Cover L o Extra High WZ and above - Specific Design only.
Bottom Bar Available as Twin and Triple tracks
Mohair incorporating Magnetic latches
Side Guide fe————————— Overall Width=OW ————————=
Overall 2 x Twin Tracks
Height - 4 x Sliding Glass Panels
=OH - Opens approx 75%
Dummy Post | ‘
Closed f y—!

Two post structure attached to wall. Dummy Post

LH Door storage —=——— Open direction
Open g E
1
]
]
]

Showing two drop screens on long side Closed |
Open directon —— = RH Door storage
- For Side openings greater than 4m a Dummy Post can be used to Open |
give a 4m max opening
- For more details please Refer to the - For more details please Refer to the
Juralco Solar Zip Dropscreen manual Juralco Glaslide manual

®IURALCO Juralco SunFold® Outdoor Living System fosue 324 13

www.juralco.co.nz ph (09) 478 8018 Page 16




Juralco SunFold® Living Systems - Lighting

Lighting.

The SunFold® system is designed to be installed outside, suitable lighting will extend its evening use for entertaining and relaxing.
Many lighting solutions exist, depending on client requirements; the following are recommendations only.

LED Striplights, enclosed on extrusions with diffuser covers are available in a variety of shapes from a variety of suppliers.

Most of these are quite small, about 20mm wide x 10mm deep, and usually up to 2m long.

Waterproof strips only 11mm wide x 3mm deep (IP 67) can be obtained up to 10m long.

Attachment with suitable double sided tape is satisfactory.

Control gear can be housed inside the JOR/801 extrusion. Dimming and colour changing are possible options.

Perimeter Beam JOR/801 Perimeter Beam JOR/801
(Option if No Dropscreen only) (With/without Dropscreen option)
((8) ®
S 3

~

Suitable Control gear
(check clear of dropscreen

L

- O

Typical mini LED extrusion

approx 14mm wide x 4mm deep,
Mounting channel JGF/2218/5.8

and Translucent Acrylic Infill JEC44/3

Typical mini LED extrusion

approx 14mm wide x 4mm deep,
Mounting channel JGF/2218/5.8

and Translucent Acrylic Infill JEC44/3

If no Dropscreen
JOR/899/5.8 Infill

Mindy TT1L miniaturised receiver control units with pass-through installation, IP55 protection.
With radio-controls 433.92 MHZ receiver with over 4.5 million billion combinations.
Self-recognition of the transmitters of the NiceWay series with 2, 4 or 6 channels.

TT1 L for Lighting control Ultra compact 96mm long x 26 x20mm

#tJURALCO Issue 3-24 v3
,‘J L Juralco SunFold® Outdoor Living System s;ue 1V
www.juralco.co.nz ph (09) 478 8018 age 7




Juralco SunFold® Living Systems - Structural - Typical Post Fixings to Timber Decks
Complies with NZS3604:2011 - Double Boundary Joists

Typical Top Fix to Timber (Deck Outer edge) - Post Bottom Bracket JOR752 + M10SS Bolts

Important Installation notes:

1 - The Project Engineer must ensure the structure
can support the appropriate loads JOR752 Post
2 - Substructure shown indicatively only. Bottom Bracket
3 - Timber SG8 minimum strength
4 - All Fixings must be Stainless steel /
Decking FIL
7 0 7
o @ o 1
@ o o @1
Minimum

Joist or Nog size
190mm x 45mm

40sq Heavy Washers
@ o o O I -

r i

JOR752 Post Bottom Bracket
+ Optional Base Plates

4 x M10 SS Bolts
(or Threaded Rod)

/

and 21mm dia SS washe .
« //‘
\

JOR755
E S E Base plate
/ J\
° ° Connections

by Others

JOR752 Post °
Bottom Bracket

JOR756 Base plate

SS PS1 required
to use this Baseplate

Double Boundary
Joist + Block

M10x40sgx3mm

@ SS Washers
®

S

@@@
©

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Issue 3-24 v3

® - w
Juralco SunFold® Outdoor Living System Page 18




Juralco SunFold® Living Systems - Structural - Typical Post Fixings to Timber Decks

Complies with NZS3604:2011 - Double Boundary Joists

Typical Top Fix to Timber (Deck Outer edge) - Post Bottom Bracket JOR752 + M12SS Coachscrews, or Lagscrews

Important Installation notes:

1 - The Project Engineer must ensure the structure

can support the appropriate loads
2 - Substructure shown indicatively only.
3 - Timber SG8 minimum strength

4 - Coachscrews 150mm min engagement into joists.

Predrill 6mm holes
5 - Bond all Coachscrews with

SIKA Supergrip30 to full depth
6 - All Fixings must be Stainless steel

4 x M12 SS Coachsrews
and 21mm dia SS washers.
or M12 Lagscrews

JOR752 Post
Bottom Bracket

Y

Base plate
(
o
°
Connections .
O by Others

)

0()@ “ 9

g
Decking TL
U 77,7 %
o @ o
@ o o @ f{
Minimum

Joist or Nog size
190mm x 45mm

o @ o
@ o 0o @

JOR752 Post
Bottom Bracket

7

JOR?752 Post Bottom Bracket
+ Optional Base Plates

Ay

P
-

\'\
JOR755 | %

JOR756 Base plate

SS PS1 required

to use this Baseplate

Double Boundary
Joist + Block

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold®

Outdoor Living System

Issue 3-24 v3
Page 19




Juralco SunFold® Living Systems - Structural - Typical Post Fixings to Timber Decks
Complies with NZS3604:2011 - Double Boundary Joists

Typical FACE Fix to Timber (Deck Outer Edge) - Post Bottom Bracket JOR760 + M12 SS Coachscrews

Important Installation notes:

1 - The Project Engineer must ensure the structure
can support the appropriate loads

2 - Substructure shown indicatively only.

3 - Timber SG8 minimum strength

4 - Coachscrews full engagement into joists.
Predrill 6mm holes

5 - Bond all Coachscrews with

SIKA Supergrip30 to full depth Decking FFL
6 - All Fixings must be Stainless steel *
V. 777 77, 7,
o @ ° o‘ A\ A\ 25
@ 0 o @
Minimum
Joist or Nog size 145
190mm x 45mm

socof J V

: ‘ . .| JOR760
’ St .| Post Bottom
. . Tall Bracket

Connections by Others

Double Boundary Joist
+ Block

=

2 x M12 SS Coachsrews
and 21mm dia SS washers

| 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System e

www.juralco.co.nz ph (09) 478 8018 Page 20




Juralco SunFold® Living Systems - Structural - Typical Post Fixings to Timber Decks
Complies with NZS3604:2011 - Double Boundary Joists

Typical FACE Fix to Timber (Deck Outer Edge) - Post Bottom Bracket JOR760 + M12 SS Bolts

Important Installation notes:

1 - The Project Engineer must ensure the structure
can support the appropriate loads

2 - Substructure shown indicatively only.

3 - Timber SG8 minimum strength

4 - All Fixings must be Stainless steel

O @ O O 25
@ O o
Minimum
Joist or Nog size 145
190mm x 45mm
/ ° o @ °
! > </, @ o 0o @ V \V
B .' . JORT760
‘ * Post Bottom
Tall Bracket
Y
Y
Y
Q
/ 0 \
& \ /
S L)
. 0 Connections by Others
L)
M12 SS Nuts O
+50 3
@@ SS vn\;g]sﬁ(e]r); m s * Double Boundary Joist
N + Block
L) S
L)
L )
d :
\ N
(==}
2 x M12 SS Bolts
(or M12SS threaded rod)
and 21diax1.2mm SS Washers
- Issue 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System Page 21

www.juralco.co.nz ph (09) 478 8018




Juralco SunFold® Living Systems - Structural - Typical Post Fixings to Timber Decks
Complies with NZS3604:2011 - Double Boundary Joists

Typical FACE Fix to Timber (Deck Inner Area) - Post Bottom Bracket JOR760 + M12 SS Coachscrews

Important Installation notes:

1 - The Project Engineer must ensure the structure
can support the appropriate loads

2 - Substructure shown indicatively only.

3 - Timber SG8 minimum strength Decking FFL
4 - Coachscrews full engagement into joists. +
Predrill 6mm holes
7
5 - Bond all Coachscrews with 7 %7 0 % V. 7.
SIKA Supergrip30 to full depth © @ o o 1 25
6 - All Fixings must be Stainless steel ecvce
Minimum
Joist or Nog size 145
190mm x 45mm
o ® o of
@ o o @ §
‘ . .| JOR760
‘ * Post Bottom
Tall Bracket

o

(Y

e \

o

/ Y Triple Nogs well .
S % \ /’ nailed together
1~ with 90mm .

x 3.15 Galv Nails *
from both sides S
e
N .
L ]
Py
L Y \
%
°
8
2 x M12 SS Coachsrews

=) W&m dia SS washers

| 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System e

www.juralco.co.nz ph (09) 478 8018 Page 22




Juralco SunFold® Living Systems - Structural - Typical Post Fixings to Timber Decks
Complies with NZS3604:2011 - Double Boundary Joists

Typical FACE Fix to Timber (Deck Inner Area) - Post Bottom Bracket JOR760 + M12 SS Bolts

Important Installation notes:

1 - The Project Engineer must ensure the structure
can support the appropriate loads

2 - Substructure shown indicatively only.

3 - Timber SG8 minimum strength Decking FFL
4 - All Fixings must be Stainless steel \ +
W77, 7%, 7%, %, % %
o @ o 25
@ © o
Minimum
Joist or Nog size 145
190mm x 45mm
o @® ©°
/> < @ o o @
N E ‘. | JORT760
. . Post Bottom
Tall Bracket
(Y
(Y
(Y
= o
()
Q/ \/ ’ \
Triple Nogs well .
nailed together
with 90mm .
x 3.15 Galv Nails *
@ from both sides S
e
M12 SS Nuts @
+50mm sq x 3mm 3 *
SS Washers 1
. . \
Connections @ q S
by Others 2
\]
\ 2 x M12 SS Bolts
< (or M12 SS threaded rod)
o %diaﬂ .5mm SS Washers
.. Issue 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System Page 2
www.juralco.co.nz ph (09) 478 8018 age 23




Juralco SunFold® Outdoor Living System - Structural - Post attach to

Concrete

Typical Top Fix to Concrete Footing - Post Bottom Bracket JOR752 or JOR760 + M12 SS Studs

Important Installation notes: JOR?752 Post Bottom Bracket

1 - The Project Engineer must ensure the structure + Optional Base Plates
can support the appropriate loads

2 - Substructure shown indicatively only /\_

3 - All fixings must engage into the structural slab ‘

4 - A PVC Tape layer must be installed between the . ‘
Base plate and Concrete .

5 - All fixings must be Stainless steel 0

/ 777777777777777777 N\ 9

JOR755 XC
Base plate LS

a [jelf]iai)

Installation details Fischer FIS V 300T

Thread diameter M12

Drill hole diameter =14 mm

Post
Anchorage depth =120 mm Bottom Bracket
Drilling method Hammer drilling

Drill hole cleaning 4 times blowing,
4 times brushing,

4 times blowing Optional Base Plate : 1t£))0Er(;1si;ne distance
o .
PVC Tape Layer g cr—100—=—

No borehole cleaning required in case
of using a hollow drill bit, e.g. fischer FHD.

I
[
[
[
[
[
[
[
[
I Drill hole depth =130 mm
[
[
[
[
[
[
[
[
[
[

N 7 \
A4-TO>Ngc\s Smx \\\1\% \‘LSOni\n\
\ \ ¢
RRRRRRRRRSS

Uncracked Concrete Slab Min 25MPa reinforced

Typical Mounting to Concrete Footing

Post %)
Bottom Bracket
\CO
Timber Deck '
L Y|° 1IN ]
Optional g
Base Plate 100 min distance
.| to Edge
PVC Tape Layer g t—100—=—
% Sl
A4-70 \\\L 50”\
N SR
AN
\ \\ \\ AR

Uncracked Concrete Slab Min 25MPa reinforced

Typical Mounting to Concrete Footing through a
Timber Deck, using extra long Corner Post Bracket

JOR756 Base plate

SS PS1 required
to use this Baseplate

JOR760
Post Bottom Tall Bracket
+ Optional Base Plate

JOR755 Base plate

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 24




Juralco SunFold® Outdoor Living System - Structural - Post attach to Concrete

Typical Top Fix to Concrete Slab - Post Bottom Brackets JOR752 or JOR760 + M10SS Fischer Screws

Important Installation notes:

1 - The Project Engineer must ensure the structure

2 - Substructure s

can support the appropriate loads

hown indicatively only

3 - All fixings must engage into the structural slab

4 - A PVC Tape layer must be installed between the
Base plate and Concrete

5 - All fixings must be Stainless steel

Thread diameter

Drill hole diameter

Anchorage depth

Drilling method

I
[

[

[

[

[

[

[

[

I Drill hole depth
[

[

[

[

I Drill hole cleaning
[

[

[

[

[

No borehole cleaning required in case

. of using a hollow

12mm

=10 mm
=75 mm
=65 mm

Hammer drilling
4 times blowing,
4 times brushing,
4 times blowing

drill bit, e.g. fischer FHD.

Post
Bottom Bracket
Timber Deck
L N
Optional
Base Plate

PVC Tape Layer

JOR755 Base plate

Post
Bottom Bracket

= o

Optional Base Plate

o
PVC Tape Layer\

JOR752 Post Bottom Bracket
+ Optional Base Plates

100 min distance

to Edge
= L ~—100——

NN NN
\aus\%n {z "N NN
Cbnci‘e\te DN N
N BE\\\\\\\ NN
\\ SOOI BN

Uncracked Concrete Slab Min 25MPa reinforced

Typical Mounting to Concrete Slab

:| 100 min distance
‘| to Edge

—~—100—»—

\\\\\

\
\
NN \\ \\

NN

SOH\

Uncracked Concrete Slab Min 25MPa reinforced

Typical Mounting to Concrete Slab through a Timber Deck,
using Tall Post Bracket

JOR756 Base plate

SS PS1 required
to use this Baseplate

JOR760
Post Bottom Tall Bracket
+ Optional Base Plate

JOR755 Base plate

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 25




Juralco SunFold® Living Systems - Structural - Soffit Attach
NOTE : Only applicable to Louvres perpendicular to Wall. ie Distributed Load, Soffit (or Wall Attach)

Important Installation notes:
1 - The Project Engineer must ensure the structure

can support the appropriate loads
2 - Substructure shown indicatively only
3 - All fixings must be Stainless steel

Soffit - Typical Soffit Structure

Stage 1 - Strengthening Typical Soffit Structure

1 - Remove Soffit and Fascia
2 - Attach Nogs ex 100x50 H3.1 between th Trusses + supports
Nailplates + Product nails to ea corner 3Kn

Nogs between 4
trusses
2

<> Nogs between
b

Stage 2 - Strengthening Typical Soffit Structure

1 - Reattach Soffit and Fascia
2 - Attach Strengthening plate under
ex 200x50 H3.1

Full length

Strengthening plate under

re installed soffit.

Attach to Nogs at typically 450mm crs
Attach to Horizontal infills at 900crs

2 - Attach Strengthening plate under
ex 200x50 H3.1

Issue 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System S:u:ge 26V

www.juralco.co.nz ph (09) 478 8018




Juralco SunFold® Living Systems - Structural - Soffit Attach Details

Important Installation notes: Notes:
1 - The Project Engineer must ensure the structure 1 - Applies to Soffit overhangs of 400mm or less. You will need
can support the appropriate loads site specific Engineering if greater than 400mm

2 - Substructure shown indicatively only
3 - All fixings must be Stainless steel

1 - Soffit Strengthening Timber Plate Attach Details
Roofing

Fascia

Nogs between
Rafters Rafter

Gutter

14g x 100 SQ Drive 14g x 100 $Q Drive
SS Self Tappers SS Self Tappers
@450crs @900crs

/

/

Full length Strengthening timber plate under Soffit
ex 200x50 H3.1,

2 - JOR710 Soffit Bracket Attach Details

Roofing
Gutter Gap 150 max
Top Flashing and
Packer to suit .
%J Fascia
.| Nogs between
Gutter Rafters Rafter
4 x 149 x 35 SQ Drive
SS Self Tappers
8 x 14g x 50 SQ Drive Soffit
SS Self Tappers
A A ]
* /

O J

= JOR710 N B Full length Strengthening timber plate under Soffit
Soffit Bracket 15min ex 200x50 H3.1,
. . Issue 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System Page 2
www.juralco.co.nz ph (09) 478 8018 age 7




Juralco SunFold® Living Systems - Structural - Soffit Attach Details

Important Installation notes:

1 - The Project Engineer must ensure the structure
can support the appropriate loads

2 - Substructure shown indicatively only

3 - All fixings must be Stainless steel

Notes:

1 - Applies to Soffit overhangs of 400mm or less. You will need
site specific Engineering if greater than 400mm

1 - Soffit Strengthening Timber Plate Attach Details

Roofing

Fascia
Nogs between
Gutter Rafters Rafter

14g x 100 SQ Drive 14g x 100 $Q Drive

SS Self Tappers SS Self Tappers

@450crs @900crs

]
Full length Strengthening timber plate under Soffit
ex 200x50 H3.1,
2 - JOR710

Soffit Bracket Attach Details

Gutter Gap 185 max

Roofing

Top Flashing and
Packer to suit
®

Attach Motor Beam
Wall Bracket with 4 x
25mm x M6 SS

sq drive screws

L 2

Fascia

Nogs between
Rafters

Rafter

~)

8 x 14g x 50 SQ Drive
SS Self Tappers

A A ]

— |/

Soffit

JOR7108
Soffit Bracket —
15min

Full length Strengthening
timber plate under Soffit
ex 200x50 H3.1,

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 28




Juralco SunFold® Outdoor Living System - Soffit Steel Brackets

JOR710/SS Soffit Bracket. All ex 6mm Stainless Steel
Attach the JOR710 with 4 x 14g x SQ Drive SS Self Tappers
attached as per minimum spacings below

to a full length strenghtening plate to Nogs and Rafters

For Distributed Loads only - Louvres perpendicular to Walls

SunFold Max Total allowable Dimensions
4.2m Width x 5.8m Length
) Max Roof | Max Bracket
Wind Zone Width. m Spacing m
4.2 0.8
Low
3.2 1.0
4.2 0.6
Medium
3.2 0.8
3.6 0.5
High
2.6 0.8
3.6 0.5 )
Very High JORT710/SS Soffit Bracket
2.4 0.8 All ex 6mm SS
29 05 300 wide x 135 high x 340 deep
Extra High
1.8 0.8
340 -—
4 x M6 holes

at 60mm crs (4 x total)

135
4 x M6 C/S holes
at 60mm crs (8 x total)

W

6 I

100

|

—

i PN
=40 75— JORT710/SS Soffit Bracket
300 wide x 135 high x 340deep

#IURALCO Juralco SunFold® Outdoor Living System fosue 324 v3

www.juralco.co.nz ph (09) 478 8018 Page 29




Juralco SunFold® Living Systems - Structural - Distributed Load, Wall Attach

NOTE : Only applicable to Louvres perpendicular to Wall

ie Distributed Load, Wall (or Soffit Attach)

Important Installation notes:

1 - The Project Engineer must ensure the structure

can support the appropriate loads

2 - Substructure shown indicatively only

3 - All fixings must be Stainless steel

This for JOR/807 Narrow Beam Only

attached to a Wall

Overall Bay Bay Overall Bay Bay
Length Length
Blue lines show Distributed load - Timber fixings
Cavity Fixing Direct to Weatherboard Fixing
Step 1
Studs or Nogs Step 1
& 20mm Cavity band
/
Cladding Studs or Nogs
’/Timber Packer ex 95 x 45 Full length, straight and level
prefitted to weatherboard with
a few 10gx75mm SS screws
Full length, straight and level
| prefitted to cladding+ Stud with
a few 10g C/S SS screws ) )
— refit H3.1 Timber Packer
Cavity Packer 100x100mm
at attach points
Step 2 Step 2

mbed

e

Head Flashing (not supplied)

JOR/807 beam attached to Wall

Attach with 14g
SS Hex head screws

Counter bore for access

to Screw head.Seal after

]

Head Flashing (not supplied)

Attach with 14g
SS Hex head screws

Counter bore for access
to Screw head. Seal after

|

OR/807 beam attached to Wall

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 30




Juralco SunFold® Living Systems - Structural - Distributed Load, Wall Attach
—l— NOTE : Only applicable to Louvres aligned to Wall ie Point Load, Wall (or Soffit Attach) —l—

Important Installation notes:
1 - The Project Engineer must ensure the structure

can support the appropriate loads This for JOR/807 Narrow Beam Only.
2 - Substructure shown indicatively only attached tO a Wa"

3 - All fixings must be Stainless steel

A B A B A
0N i -

Overall Bay Bay

Length

Overall Bay Bay

Length

=
1

-I- Red Cross show Point load - Steel fixings -I-

Cavity Fixing
Studs or Nogs
20mm Cavity band

Cladding
L Head Flashing B

Ends - Attach to Wall

(Not supplied)

Attach JOR/87 to steel with
14g x 25mm Hex Washer face
screws @600 crs

_mr bore for

'~ access to 14g screw heads

Approx location of holes
for 4 x 149 attach screws

Attach Holes - Backside Hole 13mm &
Frontside Hole 22mm & access

” Steel RHS 100 x 50 x 3 x 0.8m. Duragalv
securely screwed to studs or lintel
Counter bore for with 4 x M12 SS Coachscrews.
access to M12 screw heads Drill attach holes to line up with studs
(if needed) or use existing holes into lintel
Cavity Packer 100x100mm min Mount hard into JOR/807 beam corners

at attach points

Direct to Weatherboard Fixing

Typical Weatherboard Twin Bay Centre
— Attach to Wall.

Head Flashing Narrow Beam JOR/807
(Not supplied) with machined end.

Attach JOR/87 to steel with B

14g x 25mm Hex Washer face
screws @600 crs

m bore for

)wess to 149 screw heads

Approx location of holes
for 8 x 14g attach screws

Attach holes - Backside Hole 13mm @
Frontside Hole 22mm @ access

” Steel RHS 100 x 50 x 3 x 1.4m. HD Galv
securely screwed to studs or lintel
Counter bore for with 6 x M12 SS Coachscrews.
access to M12 screw heads Drill attach holes to line up with studs

(if needed) or use existing holes into lintel
Ends - JOR710 Steel
Centre - JOR711 Steel

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Issue 3-24 v3

® - -
Juralco SunFold® Outdoor Living System Page 31




Juralco SunFold® Living Systems - Structural - Motor Beam Wall Attach

Important Installation notes:

1 - The Project Engineer must ensure the structure
can support the appropriate loads

2 - Substructure shown indicatively only

3 - All fixings must be Stainless steel

This for JOR/815 Motor Beam Only.

f=—50
T |
80
JOR/819/5.8
Motor Beam Wall mount
L 80x50mm

Cavity Band Fixing

Step 1
Studs or Nogs

20mm Cavity band
/

Cladding

Timber Packer (if needed)
5mm max

JOR/819 815 Motor Beam
Continuous Wall Mount

Attach JOR/819 Motor Beam
14g C/S SS
Screws @ 300 crs

Note - The outer 14g screws

Then a pair @100crs

Cavity Packer 100x100mm
at attach points

Step 2

Head Flashing (not supplied)

Attach Motor Beam

to Bracket with

No8 x 25mm SS PK C/S
sq drive screws

@ 300mm crs

If Joint 11.
4 x No 8x25 Screws
at Joint location, 25mm from end

Direct to Weatherboard Fixing

OK for JOR819 to be at Weatherboard angle

must start 25mm in from ea end.

Timber Packer (if needed)
5mm max

Embed, JOR/819 815 Motor Beam

Continuous Wall Mount

Attach JOR/819 Motor Beam
14gC/S SS
Screws @ 300 crs

Note - The outer 14g screws
must start 25mm in from ea end.
Then a pair @100crs

Head Flashing (not supplied)

R

Attach Motor Beam

to Bracket with

No8 x 25mm SS PK C/S
sq drive screws

@ 300mm crs

If Joint 11.
4 x No 8x25 Screws
at Joint location, 25mm from end

www.juralco.co.nz ph (09) 478 8018

#tJURALCO

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 32




Juralco SunFold® Living Systems - Structural - Integrated Installation Attach

NOTE : Only applicable to Louvres perpendicular to Wall ie Distributed Load, Wall (or Soffit Attach)

Important Installation notes:

1 - The Project Engineer must ensure the structure .
can support the appropriate loads Th IS fOI' JORI807 NarrOW Beam OI‘I|V.
2 - Substructure shown indicatively only as an Interq rated Structu re

3 - All fixings must be Stainless steel

Blue lines show Distributed load - Timber fixings

Overall
Length
Overall
Length
Overall
Length
This upstand to be
at least 50mm above roofing
* Outer Boundary

Joist ex 300 x 50mm

Roofi
oofing ﬁpuu length, straight and level

] attached to Joists with
Roof Rafters a few 10gx100mm C/S SS screws

ex 190 x 45mm

Solid Timber packer ex 90 x 45, H3.2.
(Not supplied)

Full length, straight and level, prepainted
2 x Coats exterior paint, before fitting

External Ceiling Lining

Typical Integrated Roof Construction. Boundary joists all very firmly
attached to Roof rafters. Engineer to check structure

Head Flashing (Not supplied)

=

Roofing
Attach JOR/87 to structure with

14g SS screws @600 crs

< T ~_Counter bore for access to bolt head.

Seal after

Recommenced Integrated Roof attachment to structure

| 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System s:u:ge 33V

www.juralco.co.nz ph (09) 478 8018




Juralco SunFold® Living Systems - Structural - Integrated Installation Attach

Important Installation notes:

1 - The Project Engineer must ensure the structure
can support the appropriate loads

2 - Substructure shown indicatively only

3 - All fixings must be Stainless steel

Bay Bay
Overall
Length

=T NOTE : Only applicable to Louvres aligned to Wall ie Point Load, Wall (or Soffit Attach) —I—

This for JOR/807 Narrow Beam Only.
as Intergrated Structure

Approx location of holes
for 8 x 149 attach screws

Attach holes - Backside Hole 13mm @
Frontside Hole 22mm @ access

Steel RHS 100 x 50 x 3 x 1.4m. HD Galv
securely screwed to studs or lintel

with 6 x M12 SS Coachscrews.

Drill attach holes to line up with studs

(if needed) or use existing holes into lintel

Outer Boundary
Joist ex 300 x 50mm

This upstand to be
at least 50mm above roofing

s

Roofing
Roof Rafters
ex 190 x 45mm M12 SS
Coachscrews
90mm depth
into Joists T——

Head Flashing
(Not supplied)

Narrow Beam JOR/807
with machined end.

Attach JOR/87 to steel with
14g x 25mm Hex Washer face
screws @600 crs

Counter bore for
access to 14g screw heads

Counter bore for
access to M12 screw heads

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 34




Juralco SunFold® Outdoor Living System - Joint Assemblies

J1
J1 J1 &)
L j-
s M
v !
1 x Bay, 1 Post 2 x Bay, 3 Posts 3 x Bay, 6 Posts
Two Wall Series One Wall Series One Wall Series
A Selection of some Layouts using Joint 1
If Point load Perimeter Beam meets
use Steel Bracket A J OI NT 1 a Narrow beam at a Wall
Inside the Narrow Beam Can be RH or LH

4 x M12 SS Nuts and Washers

JOR971

Endplate attach Screws
JVBHTSCREWY/50x10 JOR/807 Narrow Beam ™\

50mm SS HT PK C/S~
JOR931 sq drive screw.x5

M12 x 35 SS Bolts ey,

JOR/801 Perimeter Beam
+ JOR/802 Pelmet

" JOR921
Endplate for
807 Beam

JOR930 >
807 Beam
Endplate Cover

This left outstanding
to fit under the 807

| 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System e

www.juralco.co.nz ph (09) 478 8018 Page 35




Juralco SunFold® Outdoor Living System - Joint Assemblies

1 x Bay, 1 Post
Two Wall Series

J2

) J2

2 x Bay, No Posts
Integrated Series

3 x Bay, 3 Posts
Two Wall Series

A Selection of some Layouts using Joint 2

If Point load
use Steel Bracket A
Inside the Narrow Beam

Narrow Beam meets

J OI NT 2 a Narrow beam on Walls.

Can be RH or LH

JOR921 JOR/807 Narrow Beam
Endplate for

Endplate attach Screws 807 Beam

JVBHTSCREW/50x10 (cut down)

JOR/807 Narrow Beam \ ),

Backing Plate here

(Cut down from JOR921)

2 x M12 x 35 Bolts

Back web of JOR/807 cut away

JOR921
Endplate for
807 Beam

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 36




Juralco SunFold® Outdoor Living System - Joint Assemblies

J3
J3
J3
B
2 x Bay, No Posts J 3
Integrated Series 3 x Bay

Integrated Series

A Selection of some Layouts using Joint 3

If Point load Narrow Beam meets
use Steel Bracket A JOI NT 3 a Narrow beam on Walls
Inside the Narrow Beam (Integrated only. RH, LH identical))

JOR923 RH (shown)
or JOR923 LH JOR/815 Motor Beam
JOR923 RH (shown) Corner Block + JOR816 Pelmet
or JOR923 LH
Corner Block

JOR/807 Narrow Beam

JOR/80Z Narrow Beam \O

JOR/807 Narrow Beam

Att'::

JOR925 N\ JOR25 Integrated Outlet
Cut down to go here

JOR927 RH (Shown) 4
or JOR927 LH Corner Infill
Corner Block Mounting Angle

Endplate attach Screws

JVBHTSCREW/50x10
JOR923 RH JOR923 LH
Corner Block Corner Block
JOR925
Integrated Outlet
Corner Infill
JOR926
Motor Beam Corner Cover
JOR927 RH
Corner Block JOR927 LH
Mounting Angl Corner Block
Mounting Angle
Issue 3-24 v3
% JURALCO Juralco SunFold® Outdoor Living System
www.juralco.co.nz ph (09) 478 8018 Page 37




Juralco SunFold® Outdoor Living System - Joint Assemblies

Ja(B5—=)u4

1 x Bay, - 4 x Posts
Freestanding Series

[Em]

Ja(s

J4

2 x Bay, 3 x Posts
One Wall Series

)

J4

pﬂ ahJa
3 x Bay, - 8 x Posts
Freestanding Series

A Selection of some Layouts using Joint 4

JOINT 4

JOR/801 Perimeter Beam
+ JOR/802 Pelmet

Endplate attach Screws

A | JVBHTSCREW/50x10 | |

JOR902

14g x 5/8 SS Pan
S/Tapper. Screws x 6

—

JOR751 LH
Post Top Bracket

-2t

JOR/808 Post

Perimeter Beam to Perimeter Beam
at a Corner, using a Post
Can be RH or LH

JOR945 Post Top Cap

losas

JOR/801 Perimeter Beam
+ JOR/802 Pelmet

+ JOR/809 Cover

T

14g x 5/8 SS Pan | |
S/Tapper. Screws x 16

JOR752

Post Bottom Bracket
RN

JOR/808 Post
+ JOR/809 Cover

N

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 38




Juralco SunFold® Outdoor Living System - Joint Assemblies

.rjé\
ap
M M
1N 43
5 J5

2 x Bay, 6 x Posts Freestanding Series

an

§)J5

«)J5

3 x Bay, 6 x Posts , One Wall Series

A Selection of some Layouts using Joint 5

JOINT 5

JOR/801 Perimeter Beam
+ JOR/802 Pelmet

Perimeter Beams x 2
to Twin Narrow Beams (using a Post)
RH, LH Identical

JOR945 Post Top Cap

JOR/807 Narrow Beams x 2
+ JOR/812 Capping Channel

Endplate attach Screws
JVBHTSCREW/50x10 .-~ 3

e -
-0

0
J ’””’ffmﬂ .
0

JOR902
14g x 5/8 SS Pan
S/Tapper. Screws x 6

JOR750

JOR/808 Post
+ JOR/809 Cover,

14g x 5/8 SS Pan | |-l %y,
S/Tapper. Screws x 16
Jor752 | | [
Post Bottom Bracket )
T
b

JOR/808 Post
+ JOR/809 Cover

\(\

OR921 Endplates
for 807 Beams

(with 2x2 M12 Bolts
in place)

JOR/801 Perimeter Beam
+ JOR/802 Pelmet

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 39




Juralco SunFold® Outdoor Living System - Joint Assemblies

J6

2xBay 3B

2 x Bay, 3 x Posts

One Wall Series

2 x Bay,
Integrated Series

) J6

i) J6

3 x Bay
Integrated Series

A Selection of some Layouts using Joint 6

If Point load
use Steel Bracket B
Inside both Narrow Beams

JOR921 Endplates
for 807 Beams
(with 2x2 M12 Bolts~_||-

JOR753 /

.| JVBHTSCREW/50x10

JOINT 6

Endplate attach Screws |-~

JOR913

Narrow Beams x 2 (Wall mounted)
to Twin Narrow Beams (No Post)
RH, LH Joints identical

JOR/807 Narrow Beams (Twin)
+ JOR/812 Capping Channel

JOR921 Endplates
for 807 Beams
(with 2x2 M12 Bolts
in place

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 40




Juralco SunFold® Outdoor Living System - Joint Assemblies

J7

J7(8)

1 x Bay, 4 x Posts
Freestanding Series
(Dropscreen Post)

2 x Bay, 3 x Posts

One Wall Series

(Dropscreen Post)

JOR/801 Perimeter Beam

+ JOR/802 Pelmet

JOR757
Roll Down
Screen Bracket

A Selection of some Layouts using Joint 7

JOINT 7

3 x Bay, 3 Posts
Two Wall Series

(Dropscreen Post)

Intermediate Post to a Perimeter Beam
as a Dropscreen Guide
RH, LH Joints identical

JOR/801
Perimeter Beam
+ JOR/802 Pelmet

" Jor7s7

-

o “ || Roll Down
i || Screen Bracket
o 1 =
O ¢
10g x 20 SS PK . 5
Screws x 10 2 x M12 k75 bolts, |
14g x 5/8 SS Pan washers and Nuts .= .
S/Tapper. Screws x 6 3%
I
JOR/808 Post
D (with machined end)
b + JOR/809 Cover
JOR750 )
()
JOR/808 Post ,
(with machined end) O
+ JOR/809 C x M12 x 75 bolts, s
W washers and Nuts O
JOR750
O I~
@) O)
14g x 5/8 SS Pan | |*
S/Tapper. Screws x 16
JOR752
Post Bottom Bracket .
BN
i "
JOR/808 Post .
+ JOR/809 Cover oy,
LD =
S
Issue 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System
www.juralco.co.nz ph (09) 478 8018 Page 41




Juralco SunFold® Outdoor Living System - Joint Assemblies

T

J8 (=) J8

J8
1 x Bay,

4 x Posts
Freestanding Series

2 x Bay, 6 x Posts
Freestanding Series

J8

Ly

3 x Bay, 6 x Posts

One

Wall Series

A Selection of some Layouts using Joint 8

JOINT 8

JOR/815 Motor Beam
+ JOR/816 Pelmet

Endplate attach Screws
JVBHTSCREW/50x10 | :

JOR901

14g x 5/8 SS Pan
S/Tapper. Screws x 6

JOR751 LH
Post Top Bracket

JOR/808 Post
+ JOR/809 Cover

Y

149 x 5/8 SS Pan | [

S/Tapper. Screws x 16

JOR752
Post Bottom Bracket
N

JOR/808 Post
+ JOR/809 Cover

O

®

Motor Beam to Perimeter Beam
at a Corner (using a Post)
Can be RH or LH

JOR945 Post Top Cap

JOR/801 Perimeter Beam
+ JOR/802 Pelmet

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 42




J10

1 x Bay, 2 x Posts
One Wall Series

JOR970

M12 x 35 SS Bolts

JOR/815 Motor Beam
+ JOR/816 Pelmet

J9 (2

J9

., J9

2 x Bay, 2 Posts Jo }
Two Wall Series

3 x Bay, 4 Posts
One Wall Series

A Selection of some Layouts using Joint 9

Motor Beam (Wall attached)

to Perimeter B taC No Post
JOINT 9 (?ane;:am;He;r Iie:I\ma a Corner (No Post)

4 x M12 SS Nuts and Washers

JOR/801 Perimeter Beam JOR971
+ JOR/802 Pelmet

Endplate attach Screws
JVBHTSCREW/50x10 | .-~

_Blije - Motor beam
. /) Orange - Endplate

JOR902

6
This left outstanding

to fit under the 801 801 Beam

Endplate Cover

JOR/819 815 Motor Beam
Continious Wall Mount

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Issue 3-24 v3

® - -
Juralco SunFold® Outdoor Living System Page 43




Juralco SunFold® Outdoor Living System - Joint Assemblies

|
J10
J1o(k
=S !
J10 J70 'ﬂ
2 x Bay, 6 x Posts 2 x Bay, 4 x Posts
Freestanding Series One Wall Series 3 x Bay, 6 x Posts

One Wall Series

A Selection of some Layouts using Joint 10

2 x Motor Beams to Twin Narrow

JOINT 10 Beams (using a Post)

RH, LH identical

JOR945 Post Top Cap

JOR/815 Motor Beam
+ JOR/816 Pelmet

JOR/807 Narrow Beams x 2
+ JOR/812 Capping Channel

Endplate attach Screws
JVBHTSCREW/50x10

JOR921 Endplates
for 807 Beams

(with 2x2 M12 Bolts
in place

JOR/815 Motor Beam
+ JOR/816 Pelmet

JOR901 140 4 5/8 SS Pan
S/Tapper. Screws x 6
JORY750

JOR/808 Post
+ JOR/809 Cover,

14g x 5/8 SS Pan | [
S/Tapper. Screws x 16

JOR752

Post Bottom Bracket
T

JOR/808 Post B
+ JOR/809 Cover oy,

Y

| 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System e

www.juralco.co.nz ph (09) 478 8018 Page 44




Juralco SunFold® Outdoor Living System - Joint Assemblies

J1

2 x Bay, No Posts
Integrated Series

JOR/815 Motor Beam
+ JOR/816 Pelmet

J11

2 x Bay, 3 x Posts
One Wall Series

J1

J1

3 x Bay, 3 Posts
Two Wall Series

A Selection of some Layouts using Joint 11

JOINT 11

Endplate attach Screws |-~

Motor Beams (Wall mounted) x 2
to Twin Narrow Beams (No Post)
RH, LH identical

JOR945 Post Top Caps

)ﬁ (Top and Bottom)

JOR/807 Narrow Beams x 2
+ JOR/812 Capping Channel

M L ] JVBHTSCREW/50x10
Aty Otq, ) -7
Aen R Lt JOR921 Endplates
4 for 807 Beams
(with 2x2 M12 Bolt
JOR/819
815 Mqtor Beam JOR/815 Motor Beam
Continious + JOR/816 Pelmet
Wall Mount 14g x 5/8 SS Pan
S/Tapper. Screws x 6
JOR901
JOR750
JOR944
M
JOR/819 815 Motor Beam
Continious Wall Mount
Issue 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System
www.juralco.co.nz ph (09) 478 8018 Page 45




Juralco SunFold® Outdoor Living System - Joint Assemblies

J12

. . T W

1 x Bay, 2 x Posts 2 x Bay, 4 x Posts W
One Wall Series One Wall Series o

3 x Bay, 6 x Posts
One Wall Series

A Selection of some Layouts using Joint 12

Motor Beam to Narrow Beam

JOINT 1 2 (Wall mounted, No Post)

Can be RH or LH

NQ.-
'"QW 4 x M12 SS Nuts and Washers
JOR971

JOR/807 Narrow Beam

Endplate attach Screws |.
JVBHTSCREW/50x10

JOR970

M12 x 35 SS Bolts
Blue~ Motor beam

_~Orange - End Plate
JOR/815 Motor Beam
+ JOR/816 Pelmet

JOR921

50mm SS HT PK C/S Endplate for
sq drive screw x 5 807 Bea

JOR930
807 Beam
Endplate Cover

This Face machined to be
outstanding to fit under the 807

#tJURALCO Issue 3-24 v3

www.juralco.co.nz ph (09) 478 8018

® Y
Juralco SunFold® Outdoor Living System Page 46




Juralco SunFold® Outdoor Living System - Joint Assemblies

= J13

1 x Bay, 1 x Post
Two Wall Series

M12 x 35 SS Bolts

JOR/815 Motor Beam
+ JOR/816 Pelmet

J13

J13

J13

J13

J13

2 x Bay,

Integrated Series 3 x Bay, 3 x Posts

Two Wall Series

A Selection of some Layouts using Joint 13

JOR/807 Narrow Beam

Motor Beam (Wall mounted)

JOI NT 1 3 to Narrow Beam (Wall mounted)

at a Corner (No Post). Can be RH or LH

4 x M12 SS Nuts and Washers
JOR971

Endplate attach Screws
JVBHTSCREW/50x10

JOR970

JOR/819 815 Motor Beam
Continious Wall Mount

B_!ue":-l\/lotor beam
..--Orange - End Plate

25

. M

Somm S8 HT P s JOR921
q drive SCrew x 5 Endplate for

807 Beam

JOR930
807 Beam

This left outs‘t,an'd'i-r;g Endplate Cover
to fit un_qerthe 807

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Issue 3-24 v3

Juralco SunFold® Outdoor Living System Page 47




Juralco SunFold® Outdoor Living System - Components

145

|

JOR902 Endplate 801 Beam

JOR931 Endplate 801- 807 Beams Joint

o
°c©
o7

[¢)

O O O

O

)

75

JOR921 Endplate 807 Beam

o 1
(¢}
127
225 O O
120 225
JOR971 Backplate for Beam Joints
: Endplate attach Screw :
| JVBHTSCREW/50x10 I
(¢} ! ‘
|
! | ! °
|
- 145 | | ‘
JOR972 Endplate Cover 801 ' 50mm SS High Tensile S/T ! I A ——
! C/S sq drive screw )
,,,,,,,,,,,,,, - JOR930 Endplate Cover 807
(@)
(©)
150
180
)
) _
Drain Hole
— 150 JOR911
SF Louvre End Cap
JOR945 Post Top Cap
Issue 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System e
wwwijuralco.co.nz ph (09) 478 8018 Page 48




Juralco SunFold® Outdoor Living System - Components

| 5 o
(@)
o © -
© O 0 o) ©
0 © O o O o
) o 8 o
(o (o) 175 8
225 (o] (o] o
(o]
©
) O O
‘ ©)
}A 145 ~}
r (©)
145 -
JOR970 Endplate 815 to Beams
JOR901 Endplate 815 Motor Beam
For use with

[

|

|

|

: all Multiple Bays

I joining Wall Narrow

! Beams 807+807 to

: Twin 807 Beams @ 90 deg
|
|
|
|
|
|

This Hole layout for use with
some Multiple Bays.
- Joining Motor Beams 815+815
to Twin 807 Beams @90deg

(cut down 808 as shown or a Post)
- Joining Beams 801+801

as an Intermediate Post
(front holes not needed)
Joining Beams 801+801 to
Twin 807 Beams @90deg
(as a Post)

|

|

|

|

: For use with

[ Custom Multiple Bays
[ 3 and 4 Bay layouts
|

|

|

|

|

|

JOR753 JOR913
Half Wall Half Wall
Joiner Bracket Bracket Cover

JOR750 ©
MB Post °
Top Bracket JOR944

MB Post
Top Bracket Cover

JOR758 JOR759
Post Jointer Brkt Post Jointer Brkt
3 x Bay 4 x Bay

JOR914

Half End

Caps

JOR945
Post Top Cap

JOR945
Post Top Cap

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 49




B)

JOR751 LH
Corner Post
Top Bracket

JOR750
MB Post
Top Bracket

~ e

Soffit Bracket. (New style)

Juralco SunFold® Outdoor Living System - Components

1

JOR752
Post

JOR751 RH Bottom Bracket

Corner Post
Top Bracket

|
JOR755 Base plate
For JOR752 or 760 Post
150x272x12mm

\

|

’ g |

|
N/ |
JOR760 ‘
Post !
Bottom Bracket :
Tall, Wide Base |
|

|

|

|

|

JOR710

\
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

JOR?756 Base plate
For JOR752 or 760 Post
211sgx12mm
(Flip base plate
for alterative fastening)

SS PS1 required
to use this Baseplate

e e = -

JOR926
Motor Beam Corner Cover

Rhodorsil V60 Clear Silicone
H/RTV419098

~ ® 2,

( JOR923RH  JOR923 LH |
! Corner Block Corner Block |
|
| | JOR925
! | Intergrated Corner Block o
| N 7 | o 7C£)n§trtict9n78|ﬂccinei o
‘ 9 0 [ o
| ‘ @ | \ ! \
: ! : : : SIKA Supergrip :
‘ . H JECSUPERGRIP30 |
‘ Pl o [
| | | |
I Pl Il I
! V) Q P Il [
! P [ [
! JOR927 RH JOR927 LH Lol Il [
: Corner Block Corner Block o ! : !
. Mounting Angle Mounting Angle o JOR757 - !

| | |
I ;o Roll Down Screen Bracket [ For All Coachscrews fixings ]
N o e e e Y Y Y Y Y Y — N o e - N L -

Issue 3-24 v3
%‘JUHALCD Juralco SunFold® Outdoor Living System Page 50
www.juralco.co.nz ph (09) 478 8018 age




Juralco SunFold® Outdoor Living System - Extrusions

—= 145 -—
® |
3
J%;
JOR/802/5.8
Pelmet
(Dropscreen) 225
178x25mm
35
L, @8 B
? JOR/801/5.8
- S0 Perimeter Beam
J[ 220x225mm
|
Li 954><
25
== JOR/899/5.8
ZOI Pelmet Infill Tube
25x20mm
= 145 -
L [
[9)
<
JOR/815/5.8 JOR/816/5.8
SF Motor Beam SF Motor Beam
220x225mm Cover
x104mm
225
N 75
B

- 75—

225

101

et 75 e

-5

50 JOR/807/5.8
i Narrow Beam
150x225mm

—~ 150 —

! [

JOR943/3
Post Cover

7| Insert Clip

Post Cover

] N

150

r [ —

POST and COVER combined 150mm sq

JOR/808/5.5 Post 145x150mm
and JOR/809/5.5 Post Cover 5x150mm

50 “ Hi25
Lsz i ' JOR/812/5.8
Capping Channel
L 123x25x2mm

JOR/804/5.8

Carrier Rail Cover. 30x36mm

JOR/803P/5.8
Louvre Drive Pin fits here Carrier Rail, Punched. 24x44mm
Pivot Pin
fits here * =—50

-
38 T
‘ 80
195
JOR/819/5.8
JOR/818N/3.85 and JOR/818N/5.85 Motor Beam Wall mount
Louvre195x38mm L 80x50mm
I 3-24 v3
#JIURALCO Juralco SunFold® Outdoor Living System e
www.juralco.co.nz ph (09) 478 8018 Page 51




Juralco SunFold® Outdoor Living System - Components

SF Motor Assembly Motor Axle Bearing Pin, Bush

s JOR820/5.8 50mm Ribbed Motor Tube
NS

‘ I
! [
‘ [
‘ ; I
I 4 g I
I N/ ,/"/ |
! N/ JOR954 Pulley |
| S\ |
‘ I
[ JOR951 |
\ 2.~ SF Motor Mount
! f [
‘ I
! [
‘ [
‘ I
! [
! I
‘ [

JOR953 Motor

Axle Bearing Pin '{

N

JOR952 Motor
Axle Bearing Bush

SF belt guide packer

#IURALCO Juralco SunFold® Outdoor Living System fosue 324 v3

www.juralco.co.nz ph (09) 478 8018 Page 52




Juralco SunFold® Outdoor Living System - Extrusions, Components

Louvre Drive Pin JOR956 Drive Bars
SF Drive Bar
2 Hole
JOR955
SF Drive Bar
3 Hole

JOR/SSJ1901SPA
SF Louvre SS Wheel

[
[

[

[

[

[

[

[

[

[

[

[

: JOR936
‘ JOR/SSJ19021SPA SF Washer
| SF Louvre SS

[

[

[

[

[

[

[

[

[

[

[

M5 x 20
Button Head Screw

JOR636 SF
Shoulder Washer

JOR935 SF Al Bush Wheel Shaft

\
|
|
\
|
[

JOR634 Louvre Pivot Pin [
|
|
|
[
|
[
|
|
\
|
[
|

JOR968
SF Drive Bar Tapped
3 Hole

JOR/BELT/8M15200 SF 15mm Aramid Belt

~ e e e e e -

| 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System e

www.juralco.co.nz ph (09) 478 8018 Page 53




Juralco SunFold® Outdoor Living System - Drive Train

To install the JOR957 unit correctly. Motor Beam EQERIEE

1 - Present the whole unit to the correct position
more or less as per the photo Location mark |

2 - Line up the Location Indents to the top of the JOR958

3 - Make a location mark on the Beam Endplate at this height |

4 - Remove the Roller Brkt attach screws, and the Roller Brkt | |

5 - Now Insert the Assembly attach screws, and tighten up. | \ 2

6 - Now reattach the Roller brkt and screw up tight

Location inden‘Fs|

JOR958
Motor Beam End Plate

JOR957 SF Belt Location mark
Guide Pelmet Assembly .

Assembly attach Screws
P

Roller Brkt attach Screws

Location indents
JOR958 SF Belt End
Guide Beam Bracket Assembly

JOR959 SF Louvre
End Bracket Assembly

JOR958 and JOR959

1 - These units are clamped to the
JOR/803 Carrier Rail

2 - The First Louvre pin sits in this recess

3rd from end Louvre Pin

JOR960 SF Belt
Clamp Assembly

Belt Clamp
JOR961 SF Idler

ey System Assembly

JOR960

1 - These units slides on the JOR/803 Carrier Rail

2 - The Third from end Louvre pin sits in this recess

3 - The Belt Clamp sits down and clamps on the
bottom run of the Aramid Belt

Idler Pulley
Tension screw

Clamp Screw

Pulley clamp Screws

JOR961
1 - These units Clamps on to the
JOR/803 Carrier Rail
2 - Place in position, hand tensioning the Belt
3 - Tighten clamp screw
4 - Actuate the Idler Tension Screw to Tension the Belt
5 - When satisfactory, tighten the Pulley Clamp Screws

Belt pulled out of the way, to show Clamp

Belt pulled out of the way, to show Idler Pulley Assembly

#tJURALCO

www.juralco.co.nz ph (09) 478 8018

Issue 3-24 v3

® - w
Juralco SunFold® Outdoor Living System Page 54




Juralco SunFold® Living Systems - Electrical, Motor Actuator

We highly recommend using the dealer's suggested electrician for the installation of our motorised louvre roofs.
This ensures that the setup is done by professionals who are specifically trained and familiar with our products,

reducing the risk of installation errors and ensuring optimal performance and safety.

Built in Wireless
Receiver for use
with a Remote

Tubular Motors
JNICE EPLM 5012

POWER CABLE

Cable length 2.5 m, 6 wires in cable

PHASE

MELTRAL

EARTH

TTBUS

CLIMATIC SENSORS
COMMON TTEUS

Tubular Motors 45mm dia
Mechanical Limit switches

Motor 5012 - 50Nm, 12rpm
\ Wired directly to Mains supply

Drive Wheel and Crown
JNICE/50ROUNDWHL

Tubular Motors
JNICE ERAM 5012

For wiring to a TT4

for use with a Rain sensor

POWER CABLE

Length 2.5 m, 4 wires in cable

Tubular Motors 45mm dia
Mechanical Limit switches

UP/DOWN PHASE

:é NELTRAL
EARTH.

DOWMN/UP PHASE

Motor 5012 - 50Nm, 12rpm

For 45mm dia Motors b \

Tube Motor Mounting Bracket
JOR950 + JOR951

Clamp

JOR951
SF Motor Mount

Compact aluminium
support. 2 x holes M6 at
48 and 60mm CL

( Wiring Colours Moto_r Aquero Rain_ Sensor |
connections connections |
| Blue Can be Black/Brown SENESINEISESEINEISESESEN ISENESES I
| or Brown/Black depending 1 2 3 4 5 6 7 8 9 10 11|12 13 14 15 I
| on direction o I
| |
[ < f\ [
| Incl Aquero s 5 !
| Rain sensor. E : SECNG A l
. s 2 quero
| Connections 3 g N L © | Rain Sensor |
| to a ERAM 5012 # 5 P |
[ o :
' s e :
l Mains in Mains in |
\ /
Issue 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System e
www.juralco.co.nz ph (09) 478 8018 Page 55




Juralco SunFold® Living Systems - Electronic Components

Aquero Rain Sensor
- For automatically closing Louvres at start of Rain
- For Hard wiring only to JNICE/TT4

Notes: Mount the Aquero close to the system to be protected.
Make sure that the sensor surface is completely open to

rain from above. Installation Notes.
The Housing should be set so the Rain sensor The Rain sensor must be mounted on a Vertical wall
surface will be at the correct angle of approx 45° 1. Pull the mains unit PCB cover off the Wall plinth.

2. Pull the mains unit PCB carefully out of the Wall plinth.
3. Fix the Wall plinth in the desired mounting position using the

. ) . Rain sensor .
Wall plinth Connecting cable Housing @ 45 deg screws and dowels provided.
4. Switch off the mains voltage
5. Connect the Aquero, observing the correct wiring colours.
(See previous page)

6. Push the mains unit PCB carefully back into the Wall plinth.
Make sure that the PCB is located in the guide rail.

7. Push the mains unit PCB cover back onto the Wall plinth
and screw it tight.

8. Switch on the mains voltage again.
After 2 minutes, the Aquero is ready for operation.

Mains unit  Mains unit Joint
PCB PCB cover

Nice Wireless control Centre
JNICE/TT4

Possibility of defining the direction of movement
(opening and closing) of the application when the

TT4, with built-in receiver, Rain sensor is activated.

for 1 motor up to 1000 W. Separate terminals for Open and Closed or Step-By-Step
Wired and radio connection commands. ) )
to climatic sensors. Enabling/disabling of Stop function during the manoeuver.

e Protection class I1P44.

Nice Wireless Controllers.
Can be set up to control Rain Climatic Sensors, Louvre opening and DropScreen operations

/ - ~
/ &l f f
: i G ,_ o P1 Controls 1 system or automation group
- rh_—;,,, E = _ ] P6 Controls 6 automation groups
e for activation in single or multigroup mode
\ L() P18 Controls 18 automation groups
i o for activation in single or multigroup mode

BiDi Awning controller for P1 P6 P18
Wireless operations Portable transmitters

e

\ Wind Sensor for use with Dropscreens.
N Threshold has 3 wind speed settings15, 30, 45 Kph

Issue 3-24 v3

#|IURALCO j\itewinDis
. Page 56

Juralco SunFold® Outdoor Living System
www.juralco.co.nz ph (09) 478 Wﬂﬂo_mm_s_ens.or




Juralco SunFold® Living Systems - Structural - Drainage options

- The SunFold® System is designed to capture rainfall and drain it away

in a clean and controlled manner. Louvre drainage must slope one way @ 1.0+ deg towards the drainage point
- If using Posts there is a design feature to have completely hidden downpipes installed inside the post.
- Another option is to have the down pipe installed as part of a beam. The downpipe will then be visible.

Hidden Down pipe JOR608 Gutter Box

- For posts only
Perimeter Beam JOR/801
or Motor Beam JOR/815

Gutter Cover or Outlet
attach screws
M5 x 8 Pan Machine screws

This hole only for
Gutter Box drain in Post only

Gutter cover Post attach screws
M5 x 40 CS Machine screws

Gutter Outlet box JOR608 and foam gasket
For use with Post only, hidden down pipe

In Beam Down pipe using
Marley Dropper connection Perimeter Beam or

Narrow Beam (shown)
or Motor Beam

Marley 65
Dropper Cover
JOR 628

Gutter

Hole 38dia
for Drain

( shown with Dropper Cover)
JORG646

Exposed Downpipe connection
from Beam Gutter.
View from Underside

| 3-24 v3
#IURALCO Juralco SunFold® Outdoor Living System e

www.juralco.co.nz ph (09) 478 8018 Page 57




Juralco SunFoldt® Living Systems - Structural - Drainage options

Gutter Bracket System - Applies to 801/801 or 801/807 Beam Junctions only

Gutter Cover or Outlet

attach screws k

M5 x 8 Pan Machine screws This hole only for
e Drain in Post.

Normally a 45deg miter joint

/

R

Perimeter Beam }Il/
JOR/801 e

or Narrow Beam JOR/807
with machined ends Gutter

Note: When installing, make sure a bead of
V60 silicone all around

Gutter Plate |
or Gutter Outlet /!

M5 tapped holes

JOR910

GUTTER PLATE, POST ONLY Bead of V60 Silicone

Gutter cover Post attach screws
M5 x 40CS Machine screws

JOR924
GUTTER RISER POST
for 908,910,922

JOR925
CORNER ANGLE for 922

JOR922
GUTTER PLATE, NO POST

Bead of V60 Silicone

www.juralco.co.nz ph (09) 478 8018

#IURALCO Juralco SunFold® Outdoor Living System

Issue 3-24 v3
Page 58




Juralco SunFold® Living Systems - Structural - Drainage Setouts

As the SunFold® system is designed to drain rainfall away in a controlled manner. It is essential to pre plan drainage options.
The Frame is installed with slight slopes, the louvres are also sloped to channel rain into the side Gultters.
The generally accepted figure for a drainage slope for this system is a minimum of 1 deg. However on the longer dimensions

this will give unacceptable height variations: reduce slope to 0.75 deg. To keep a side level, especially against a house, provide extra drains
It is very important that the client is reminded to keep the gutter clear of debris and leaves.
Keep the louvres closed at all times when not in use.

Drain Slope
along Louvres
(Width)

v
If a Corner Post,

Downpipe can be hidden
inside Post

® Beam Drain
Alternative Drain Downpipes Exposed Downpipe

Slope Heights

For Louvres up to 1m, use 5mm fall. Then +1mm for every +200mm width up to 4m = 20mm fall
For all Louvres over 4m use 20mm fall as a maximum

¢ J

Drainage direction - along Louvres

"

Slope height
u@ter rl]

Gutt
Slope Angle shown exaggerated uttes

Issue 3-24 v3
#JIURALCO Juralco SunFold® Outdoor Living System e
www.juralco.co.nz ph (09) 478 8018 Page 59




Juralco SunFold® Outdoor Living System - Powder Coating Care and Maintenance

Powder Coating Installation Care

Warning re use of solvents:

- In some cases strong solvents are recommended for thinning various types of paints and also for cleaning up mastics and sealants.
- These can be harmful to the extended life of the powder coated surface, and must not be used for cleaning purposes.

- It is important to note that the damage will not be visible immediately and may take up to 12 months to develop.

If paint splashes or sealants and mastics need to be removed then the following may be safely used:
Methylated Spirits, Ethyl Alcohol, Isopropanol or preferably a mild detergent in warm water.

Joinery Protection during Installation:

All the activity on a construction site means that your powder coated items
may get knocked or scratched, splattered with mortar,

plaster, textured coating or paint during the later stages of construction.

Please ensure that all powder coated articles are masked or covered at this time.
It is far easier to prevent accidents than to try and correct them.

Should your joinery receive mortar or paint splashes see that these are removed
before cure and follow the instructions contained in this brochure.

Typical sticker used to warn
other trades of the need to
protect and mask off

powder coated joinery

(applies to anodised joinery also)

This photograph display damage that has occurred on site, post

installation. The photo of the masked joinery displays clear signs

of damage that could have occurred were it not masked. Please ensure that
your joinery is protected right through the entire construction process.

Powder Coating Maintenance

External - Maintenance Program:

To extend the life of external powder coated articles and to comply with warranty
requirements for powder coated aluminium joinery, a simple, regular
maintenance program must be implemented.

The effects of ultra violet light, atmospheric pollution, dirt, grime and

airborne salt deposits will all accumulate over time and must be removed

or surface staining and weathering will occur, leading to an unsightly appearance.

For external coatings, cleaning should take place every six months. In areas
where pollutants are more prevalent, such as beachfront houses and
industrial or geothermal areas, then a cleaning program should be carried
out on a more frequent basis ie. every one to three months.

Cleaning your powder coating:

1. Carefully remove any loose surface deposits with a wet sponge.

2. Use a soft brush (non abrasive) and a mild household detergent (do
not use solvents) in warm water, remove dust, salt and other deposits.
3. Rinse off with clean fresh water.

Restoring weathered or scratched surfaces:
Repair of Scuffed or Scratched surfaces
Dulux Spray Cans are available in all colour card colours.

Repair of Small Scratches or Chips.
Dulux Dabsticks are ideally suited for the repair of small scratches.
Dabsticks may not be available in all colour card colours.

Repair of Weathered areas .

Dulux Gloss Up is a light to medium cutting cream ideally

suited for gloss restoration and has been specifically designed for this purpose.
Gloss Up contains no waxes or silicone and is a one step system.

Contact Dulux Powder Coatings , ph 0064 9 441 8244
All pages © Copyright Juralco Aluminium Building Products Ltd, 2024

®IURALCO Juralco SunFold® Outdoor Living System fosue 324 13

www.juralco.co.nz ph (09) 478 8018 Page 60




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60

